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ACCOUNTANCY AND BUSINESS STATISTICS—II

Time :

1. Functional Accounting

Three Hours Maximum Marks : 100

Answers of all the questions (objective as well
as descriptive) are to be given in the main
answer-book only. Answers of objective type
questions must be given in sequential order.
Similarly all the parts of one question of
descriptive part should be answered at one place
in the answer-book. One complete guestion
should not be answered at different places in
the answer-book.
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OBJECTIVE PART-1 Maximum Marks : 40

Answer of Question No. 1 (i) to (x) should

not exceed 20 words. Each question carries

2 marks.

Answer of Question No. 2 () to (r) should

not exceed 50 words. Each question carries

4 marks.
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1. Attempt all the ten questions. All questions carry equal

marks. (Answer limit upto 20 words each)
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if)  Give the journal entry of transfer from sales
ledger to purchase ledger under sectional
balancing system.
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(v)

(vi)

(viz)
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Rishi keeps incomplete records of his transaction.
On 1st April, 2014 his cash balance was ¥ 20,000,
debtors T 30,000 and creditors ¥ 10,000. On 31st
March, 2015 his cash balance was 2 30,000, debtors
¥ 25,000 and creditors T 20,000. Calculate profit
or loss for the year 2014-15.

9 1 EEd w5 el e =R ¥ 1 e,
2014 N FHE W T 20,000, TR 2 30,000
Y T T 10,0001 31 HTH, 2015 W THE W
T 30,000, 3TER 2 25,000 TN I T 20,000 ¥
T 2014-16 B T T W Wi W o Hifeg

What is Gross Investment in Lease ?

o A e fafem ¥ s o o € 2

What is loss of stock in case of Fire Insurance
Policy ?

AR AW R = o o 30

Which act is applicable on hire-purchase
transactions ?

-3 =l W sva st g
¥

What is average capital employed ?

drn fafrdfem 4R = ¥ 2

Write the formula for computing value of

right.
IFR W F TEE W OGP W ?
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2.
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(wiii) Explain inter-departmental transfers,
FfduTiE A R
(ix) Explain Independent Branches,
@ A W |
(x) What is meant by cum-interest price ?
= ®igd o9 R T oawd ¥ 2
Attempt all the five questions. All questions carry equal
marks. (Answer limit upto 50 words each)
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(D) A trader keeps incomplete records for his

transaction. From the following information
calculate his total purchases and profit for
the year 2015 :

Opening stock T 20,000; Closing stock ¥ 16,000,
Cash sales ¥ 12,000; Credit sales T 72,000:
Percentage of profit on purchase price 20%.
TH TR S A § T o Tt b
frefafen gam & 1R W 5@ %9 @ o™
T4 2015 % fou 3@ =i . _
ST WE 7 20,000; AFTH I T 16,000; 76
fasra 7 12,000; 3R fo3 7 72,000, 78 T® W
Y F AR 20% |
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(i}

(1))

Give four characteristics of sales on higher-

purchase,

fom-wa wgh 4 fawg = 9w fovward

TAEA |

Calculate the value of goodwill by capitalisation
of superprofit from the following information :

(1} Average capital employed ¥ 4,00,000.

(2)  Net trading profits of past four years :

¥ 71,000; ¥ 78,000; ¥ 77,000; T 89,000

respectively,

(3)  Normal rate of return in similar type of

business is 11%.

(4} Net profits of first two years include

the income from non-trade investment

T 3,000

(8) The fair remuneration of owner for his

services ¥ 15,000 p.a.

Frfafas g & sfuend @ dofem fafa gm

fa F e g Fita .

() ofma fafmfsm 95t 2 4,00,000.

2 frsd s awl & w3 =i .
T 71,000; 2 78,000; T 77,000 T % 89,000
FHAY: T
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(iv)

{v)
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There are three Departments viz. X, Y and Z jp
a business. The purchase of these deptts. are 3,000
units, 6,000 units and 7,200 units respectively.
Their sales are 3,060 units, 5,760 units and 7,488
units respectively. The closing stock of these deptts.
are 300 units, 480 units and 18 units. Find out
the opening stock in units’in the deptts. of X, Y
and Z respectively.

wF A # 9 faym x, v vz & o
F w4 FEW: 3,000 TERA,; 6,000 FHEA AN
7.200 THEAT §1 TR fawt A 3,060 THTEA,
5,760 THTEA SR 7,488 yEEE &1 W fawEl &
i< wis FIW: 300 IHEA, 480 TFEA TG 18
TR ¥ X, Y 3R z fawm 4 wEw: g
wE & FEEd 9 HHe

What are the objects of keeping Investment
Account ?

fafrdm @@ ¥ w0 3 ¥ R € 7
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DESCRIPTIVE PART-II Maximum Marks : 60

Attempt lhree questions in all, selecting one
question from each Section. Each question carries
20 marks.
ToE @og H ¥ qw W & 99 s g,
HA AT oy @ W A 1 TS T
20 FH FE I
Section-A (TUZ-3Y)
3. What is Self-Balancing System of Ledgers ? Give its
working and state as how it differs from sectional

Balancing System of Ledgers. 5+5+10

wrEfdl #1 TE e Yo 7§ 7 [ -
yomreh sty a5 aq%d fe wrmafet @t Ay g

et A 9% R vEw B ¥ 2

Or (319a)
Mitali acquired a mine on lease from Anju for a period
of 10 years at a royalty of ¥ 3 per ten of coal produced

subject to a minimum rent of ¥ 4,500 for the first year
increasing by ¥ 1,600 every year till T 15,000 per annum
is reached. Short workings may be recouped out of excess
workings in the first four year only. The output during

the first five years was &s follows :
Output (in Tons)

500

Year

2011

P.T.O.
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1,000

2012

2013 2,250
2014 3,500
2015 5,000

While preparing the accounts of first four year Mitay;

decide

workings. 1
and in the third year T 3,000.

d not to carry forward as an asset any short

n the second year ¥ 4,500 were carried forwarg

Prepare necessary accounts in the books of Mitali. 20

fmreh 3 o7 @ 1099 #F fOU @R @ w o
SfFR YoF Sed FAT W 7 3 70 = @ fram
§ A A FeH TG & [ A R T 4,500
7m = e wf 9d ¢ 1,500 | 9@ SAM A 7F fF
T ¢ 15,000 TS 7 @ | AYFE T R Had
o8 wm T F afved ol § § @ aga fEa
T TFEG £ 9w q" @ul F Sced Frefafea

@ :
ad Fae (Al #)
2011 500
2012 1,000
2013 9.950
2014 3,500
2015 5.000
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Section-B (@US-9) 3&; S e

4 Accounting year ends on 31st December, 2014 with s =, TR 2013) © IR s qﬁ»—- 3} ‘T;{FIR

turnover of ¥ 2,00,000. ;;:.-';é 0L S B«

Fire takes place on June 1, 2015. Period of interruption T 20000 B v ¢ {;*: \‘ 1‘:‘.:&\‘! $R siftg fan =1
being 5 months (from 1st June, 2015 to 1st Nov., 2015) == T—T?:ﬁ_?_‘: _3 == G :i aﬂ f 3 T 2.0001
Period of indemnity according to policy—6 months. ¥ T5.0001 s '_j e :“:1 :t‘ %) F -_13_5[
Netpmﬁtfor2014?12000and insured standing charges = 7 (1 = 018 S a1 = \]1‘3?';_;\)__?‘2.“3_00“0;%

¢ 24,000. Sum insured 7 42.940. Uninsured standing 5_—"__,_-;_5 == 1 5000 5% m i 2,20,000 1
charges ¥ 2,000; Standard turnover i.e. for correspon- ? 15001 T SRR =9 S =r o ?:q.::?l; -
*‘qﬁ-i-m‘mg'ﬁ N ¥ =9 Y500 91 9d

ding months of interruption {from 1st June to 1st Nov.)
2013 = I(aﬁram—-m)nmg_f‘;sﬁz

in the year preceding the fire, ¥ 75,000. Turnover 1n
the period of interruption ¥ 22,500. Annual turnover
i Y 5 2% Ti& F1 RN €1 Y F o
? l""'; 7Ta ‘_T {gi-!j _'1 « | 5] _'na'q!

(from 1st June, 2014 to 31st May, 2015) T 2,20,000.

Or (319

Additional expenses ¥ 4,000 with a saving of insured
What do you understand by valuation on shares ?

standing charges 7 1,500. But for this additional expendi-

ture, the turnover after the fire would have been only
Discuss the different methods of valuation of shares

5+15

with example.
ST % Tooied ¥ F9 79 995 € 7 59§ qeaied
= fafim &R =1 = sk S99 =i

10

7 12,500. The expenses on putting the fire out were
% 500, During 2015 increase in turnover (both standard
and annual) is expected to be 20% and increase in G.P.

P.T.O.
313511 (1)
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Seetion-C (@ug-g) ¥ 45.000 T H1 WG WA AT 31 HH, 2016 F Y

What is me: . BERL TRH The

'l 15 meant by Departmenty Accounts ? Discuss ) N ™ ¢ 24,000 i ﬁﬁﬁ
varwous p“\bh\“ls ﬂ.l“ising dufin“ thu propnrntiun Dr HE” '? 27.500 aﬁ 3HI( w §-§1 ? GOO W W EF‘
Departmental Accounts. s A RUA HIEEE AR T a9l 2 500 WIS oy

Ui
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Or (3vera)

On April 1, 2014 there was an opening stock at branch

IR TR ® wuA FEE F OREE § i
of T 30,000 (invoice price). During the year goods costing w Ll ﬁ'fﬁgql I & HiEA W b (5

T 45,000 were sent to branch. On March 31, 2015 the RARLES ‘B{ GER W @l 25% T4 th eﬁﬂ IGI
branch reported that the cash sales during the year Tl

amounted to- T 24,000, credit sales were of T 27,500,

Goods invoiced at ¥ 600 were returned to head office

and those invoiced at ¥ 500 were lost in transit. The

credit customers also returned goods sent to them for

T 500.
Record these transactions in the ledger of head office
according to stock and debtors method. The goods are

invoiced to branch by adding to cost 25% profit on
i 20
selling price.
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